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01 At 22/l 65,800 65,800 0
OXYASEREON Al M
100,000 »55& *4 3| 22,000
O NAANIEZEAM /& SAx=E
30,000& *146%H x 103l 43,800
ANZ NSANIEEEAM SHS XA 125,000 114,500 10,500
< 15,000
Al 110,000
307 21201 A 125,000 114,500 10,500
< 15,000
Al 110,000
10 AL SXNAIEEE2EHEX 101,500 94,000 7,500
OXgGAsE2EZEAM 2G K&  101,500,000& 101,500
< 10,500
Al 91,000
11T MISXASER 23,500 20,500 3,000
OXNGAMSEHE M AMHXA 23,500,000 23,500
< 4,500
Al 19,000
NAMEHEAH ED3 3,000 3,000 0
201 Let24d] 3,000 3,000 0
03 &AL Z I 3,000 3,000 0
OXYAZIEZEAN 2284840 203
3,000,000& 3,000
SHES NAAMNALEZEAM 435t XA 8,000 8,000 0
< 2,400
Al 5,600
201 et 8,000 8,000 0
< 2,400
Al 5,600
01 At 22l 8,000 8,000 0
Os NAAMIEEEAM 43t X
1,000,000 «8IH = 8,000
< 2,400
Al 5,600
NSAASIEHE AN FE2st 10,000 10,000 0
201 L2l 10,000 10,000 0
03 &Ar2 Z I 10,000 10,000 0
ONIANEEHE M 223 W= (300¥)
10,000, 000& 10,000
sSE At 2tel 2 1,400 2,000 A 600
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i
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OAtell 2tel g2+

O dl 1,400, 000&

1,400
1,400

2,000

H

Al
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1,600
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3,000
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4,000

3,000
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H

Al

2,000

800
1,200

2,000

1
02
2
x

2,000,000

m

Al

2,000
2,000

800
1,200

2,000

H

1,200
1,200

1,200

ORetSSAtel 22l A MR I & HI

50,0003 x2H 12

m

1,200

1,200
1,200

1,200

307 glztol &

H

Al

88,000

35,200
52,800

81,000

7,000

o
&
e
~
0
o

O
40
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i Jo
it

UWE3
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24 88,000,000&

= M

88,000

88,000

35,200
52,800

81,000

7,000

ANZ7 SeArd2el X

= W

10,000
5,000
750
4,250

10,000

= W

3,000
1,500

225
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SH SNEHY
o NAASSXHA =

Sl RAIE =XOIE 1E (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 AFR2 22l Yl 3,000 3,000 0
OAtell 22| AtSR 22 Hl 3,000,000& 3,000
= 1,500
= 225
Al 1,275
301 dEtE X = 7,000 7,000 0
= 3.500
& 525
Al 2,975
01 A3 B & A 435 2 7,000 7,000 0
OAtdl 22 A H] 7,000,000 7,000
= 3.500
& 525
Al 2,975
HeZ22dMH FOH 2 3,700 3,700 0
201 Bt A | 1,000 1,000 0
01 AP 22l Yl 1,000 1,000 0
O=82E ¥ s+9 H& 1,000,000& 1,000
301 deEtE X = 2,700 2,700 0
09 HALAHIXI &= 1,500 1,500 0
O /IS 75,000 *10H 23] 1,500
12 JEtE &2 1,200 1,200 0
OFNHE 3o EFA&2 10,000& x10H x12& 1,200
G-FECE Al 29 29,000 29,000 0
= 7,200
Al 21,800
307 212t0| & 29,000 29,000 0
< 7,200
Al 21,800
10 Al SXAIEEE2IHIEX 29,000 29,000 0
OGZcLg AMged 29,000
- ZCUIOIE o1HHI(1H) 29,000,000& 29,000
& 7,200
Al 21,800
AL FEg N OIRAE MHB) 25,000 24,000 1,000
307 212t01 & 25,000 24,000 1,000
10 Al SXAIEEE2IHIEX 25,000 24,000 1,000
OFCc e AIEX& 10,600, 000& 10,600
OFEW3 olAHdl XI& 14,400
-dgolg olAHH (1¥) 1,200,000& x12& 14,400
ANZE ZEHI SAR HRIHH 1,200 600 600
& 1,200
301 et X Z 1,200 600 600




SH SNEHY
o NAASSXHA =

e XGAg EX0IE 25 (2 &HH)
(o
S - BB () - HEAY - BES Ol At o %@ﬁ HRE2
= 1,200
01 Al B & A 462 1,200 600 600
ZC EALN HR2MAH(2Y)
50,0008 x2H x12& 1,200
& 1,200
Mot RSl X (RA) 240 240 0
201 LBt | 240 240 0
02 2224 H| 240 240 0
OMl RS S AAIAE &2 )] KXY
20,000 x12& 240
MEIEXESAAF 202 A 45,000 35,000 10,000
201 gBt24 | 15,000 15,000 0
01 AP 22| H| 3,000 0 3,000
OAZEXNGEREEZ2R2E AelasH K&
100, 000& 10 33| 3,000
03 A2 G HI 12,000 15,000 A 3,000
OMIZ2XAI & FFALS WX 12,000,000 12,000
307 giztol A 30,000 20,000 10,000
02 QIZIA AAIE E X 30,000 20,000 10,000
OMISXAIESALA e 88X A NF
1,500,000 x20H 30,000
AMIIEXAIE SAIAF EL0D=H AR 14,952 10,560 4,392
& 7,476
Al 7,476
301 et A= 14,952 10,560 4,392
& 7,476
Al 7,476
01 A3 B & A 462 14,952 10,560 4,392
OABI=2XA E41WEH & 14,952,000 14,952
o= 7,476
Al 7,476
MNIIE2XAIE SAA MdoHEEH XK 2,250 2,500 A 250
& 1,125
Al 1,125
301 dEtE M= 2,250 2,500 A 250
= 1,125
Al 1,125
01 Ml EXEE 452 2,250 2,500 A 250
OMSI S XA Aol 2&Hl XI& 2,250,000& 2,250
= 1,125
Al 1,125
A= X2 /S AF K& 3,000 3,000 0
307 2Iz2t0| & 3,000 3,000 0




SN =SXHHD
o NAASIS XA e
Sl KSAtE =SX0Ig 1S

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 3,000 3,000 0
OAtZIEXI2 & JIgdAt XI& 3,000,000& 3,000
ZALOIOI & A X & 31,000 31,000 0
307 glz2tol & 31,000 31,000 0
11T MISRASEX 31,000 31,000 0
O&EALOIOl A XI& 31,000,000& 31,000
SHE XEFE SSMHA XA 67,200 67,200 0
= 47,040
< 3,024
Al 17,136
201 Let24d] 33,600 33,600 0
= 23,520
< 1,512
Al 8,568
01 At 22l 33,600 33,600 0
OSHE Ad22l ARl
4,200,000& =8 = 33,600
2 23,520
< 1,512
Al 8,568
301 LeEAF 33,600 33,600 0
= 23,520
= 1,512
Al 8,568
01 MI28HE+06l= 33,600 33,600 0
OSHsS AtdlZel Argdl 4,200,000& «8IH = 33,600
= 23,520
< 1,512
Al 8,568
M E2RHE K& 714,680 486,652 228,028
= 714,680
301 LBEHZ 714,680 486,652 228,028
= 714,680
0B A =R RAB LS 714,680 486,652 228,028
OMSI=E2R3 ol 617,573,000 617,573
= 617,573
OMI=RRF DSt 79,534,000 79,534
= 79,534
OMEI=22¥ 1=l 17,573,000& 17,573
= 17,573
FHII=24AS 1,058,000 1,209,000 A 151,000
< 740,600
Al 317,400
301 LEBA S 1,058,000 1,209,000 A 151,000
< 740,600




2N
X ZH -
L= B

el

EPARSE )
KNSAAS SR HA &8
KA A X018 2=

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 317,400
01 MEIBZE 06z 1,058,000 1,209,000 A 151,000
OF=ASPIR-F 1,000,000& *1,058H 1,058,000
< 740,600
Al 317,400
MASEE 0IMEX 0tA3 B2 426,500 0 426,500
= 213,250
= 63,975
Al 149,275
301 LEEAF 426,500 0 426,500
= 213,250
< 63,975
Al 149,275
01 AR 2Z A 53 426,500 0 426,500
ONASS DIMNYXOAT XIE(8,530%)
426,500,000 426,500
= 213,250
< 63,975
Al 149,275
=0 SXXA 2,190,166 2,280,341 290,175
= 1,451,142
< 556,033
Al 182,991
L=0AE S0 450,000 478,480 A 28,480
= 405,000
< 31,500
Al 13,500
307 21201 A 450,000 478,480 228,480
= 405,000
< 31,500
Al 13,500
11T MISXASEEX 450,000 478,480 A 28,480
OL=0THEANE HAHAZH 450,000,000 450,000
= 405,000
< 31,500
Al 13,500
C=0AE 2 (=SUMEQLAEXE) 1,437,844 1,411,441 26,403
= 1,006,492
< 431,352
307 gl2tol & 1,437,844 1,411,441 26,403
= 1,006,492
< 431,352
10 AL SXNAIEEE2EH EX 1,437,844 1,411,441 26,403
OL=oTHEAE 2 HI(10HA)
1,437,844,000& 1,437,844
= 1,006,492
S 431,352




SH SNEHY
o NAASSXHA =

Sl ol SXX CEEEED
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
CEOAE XU (=TSR AALRE) 110,270 114,780 £ 4,510
= 33,081
Al 77,189
307 @lz2tol & 110,270 114,780 24,510
< 33,081
Al 77,189
AR S XA E X 110,270 114,780 24,510
OL=QlHEAld X8 (1)
110,270,000& 110,270
S 33,081
Al 77,189
=0 MEANE SAL S22 X2 84,252 83,400 852
S 25,275
Al 58,977
301 LetENZ 84,252 83,400 852
S 25,275
Al 58,977
01 AHBIEZ X +dl= 84,252 83,400 852
OLSQUMEAL EAT S422245 THI(
142 ,25%) 84,252,00094 84,252
= 25,275
Al 58,977
S0 THEAE SAX HRIHAH K& 15,000 15,000 0
S 15,000
301 Ltz 15,000 15,000 0
£ 15,000
01 AMBIEZH 0= 15,000 15,000 0
OL=QTEAL ZAR HLMEL X2 (1)
4 ,259) 15,000,000& 15,000
< 15,000
#eix 25 13,500 17,500 4,000
301 LetEA = 13,500 17,500 24,000
12 JIEFE A S 13,500 17,500 24,000
Odcdati d=H & 2td 300,000& »3& 900
OdeA Xt #Aeo 50,000 128 600
Ogerel 2110 AMZXH E M
2,000,000 6+ 12,000
C=0AE JIs2d 79,300 0 79,300
= 39,650
= 19,825
Al 19,825
307 glztol & 79,300 0 79,300
= 39,650
= 19,825
Al 19,825




2N
X ZH -
L= B

el

EPARSE )
KNSAAS SR HA &8

=0 SXXH

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
11T M SRASE EX 79,300 0 79,300
C=0AE JIsSEZ(0tHE D2 oy
wA) 79,300,000& 79,300
= 39,650
< 19,825
Al 19,825
HE2LAZH (SX D) 282,994 297,340 A 14,346
= 48,845
< 37,280
Al 196,869
2dH(SXE ) 79,100 77,340 1,760
Jl2dul(SXEH) 79,100 77,340 1,760
201 Let249] 20,100 21,000 A 900
01 At 22/l 20,000 21,000 21,000
ORA2G AR 22| 20,000,000& 20,000
02 23224l 100 0 100
OSJRH B&5R3 100,000& 100
202 44l 49,920 49,920 0
01 = LH Yl 49,920 49,920 0
OJlege+80dl(26Y) 49,920,000 49,920
203 YR =&l 4,980 4,980 0
04 2SI LRI 4,980 4,980 0
ORM2IHRF&HI(33Y) 415,000& x12& 4,980
405 TtabH S| 4,100 1,440 2,660
01 AL EFSFHSHI 4,100 1,440 2,660
OMEE Y 1Y 300,000& =134 3,900
OMEE 2AX 7¢ 200,000 =14 200
AR AU (S X H ) 203,894 220,000 A 16,106
= 48,845
< 37,280
Al 117,769
SE M ZEl AL A AHH X2 (SEAte2el RIS 102,497 125,000 N 22,503
22X 214d])
= 48,845
Al 53,652
101 @124l 102,497 125,000 A 22,503
= 48,845
Al 53,652
03 I AHAZZ2HE > 102,497 125,000 A 22,503
OSE A2l Al 212481 (3Y) 102,497
-Jles 79,469
2A=X2, 2514
2,342,970F «1H«1201 & 28,116




SH =SNEMY
M HMHAH| (2R
Chel: ol 2oyl (=X A M) (sl &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 14,058
Al 14,058
AT, 2434
(2,282,330« 1H 1200 & )+(2,282,330 » 51,353
1H9x10.50H )
= 25,676
Al 25,677
-ANMZ2Z LG 6,692
SA=T2, 2214
16,400 *1H *12A| 2t 1204 & 2,362
= 2,165
Al 197
- BAEX, 25349
(16,4002 * 124 %1241 2+ 120 2 ) +( 16,4002 4,330
* 1« 12A1 2H« 1001 /)
= 3,969
Al 361
-EHsz 2 gARAMEZ 16,336,000 16,336
= 2,977
Al 13,359
EstAtdl 22l olA4dl X (KAND) 12,375 0 12,375
101 @1 21| 12,375 0 12,375
03 RIAHEZZXHE = 12,375 0 12,375
OEe At Z2IAF =22(3Y) 12,375
- YEEIHY
(2,738,800 x2% )+(2,811,570&x1H) 8,290
- JiEsg 120,00021 * 14 x 1204 & 1,440
- MARBENLY
(87,440 x2H x 102 )+(89,6002 x1H «10Y ) 2,645
2stss4dH oAl A& 89,022 95,000 AN5,978
= 37,280
Al 51,742
101 21214| 89,022 95,000 AN5,978
= 37,280
Al 51,742
03 I HL22 N+ 89,022 95,000 A5,978
ORsts24dH 29 oAU (2Y) 81,346
D23 (2A=N2, 2a4E/2514)
(2,505,760 18 1200 & )+(2,342,970& »1H 58,185
*1200 &)
= 23,274
Al 34,911
—HA2R2LE(EHEX2, 2844 /2514)
(17,990 *1H x12A| 21200 & )+( 16,830 *1 5,015
O« 12A1 21200 /)
= 3,677
Al 1,338




SH =XEHY
M HY2IZH (SN D)
¢ oA2HH(SXEH )
(o
SA - BB B (BA) - MM - BHES Ol &+ o4 e
-BEgs ¢ EHEFEZ 18,145,470& 18,146
< 7,259
Al 10,887
OQIZFARI 22l AP =5 (2F) 7,676
-“HESIH(EA=X2, 2544 /2514)
(3,006,920 «19 )+(2,811,570& 1) 5,819
< 2,327
Al 3,492
ARSI ENSZ(EHSK2, 2544 /251
A) 1,857
(95,920 *1H *10L )+(89, 760 *1¥ 10 )
< 743

Al 1,114




